1. If beta in the figure equals 150, what is the critical frequency of the input coupling circuit? 
 
[image: https://angel.grantham.edu/AngelUploads/QuestionData/e7d59cbb-903c-42a1-beda-36cf04a9abcb/EE220.03%20Fig%202.jpg#%7B4ACCAA83-2DD8-4CB9-A3B5-8038EE33A396%7D]
A) 3.35Hz
B) 75kHz
C) 26.54Hz
D) 5.8Hz


2. 
[image: https://angel.grantham.edu/AngelUploads/QuestionData/55ccc2c3-b76d-4da3-b451-fdce6ce7ab37/EE220.03%20Fig%202.jpg#%7BC66777BA-81C3-4628-BBF0-B112504EE063%7D]
If beta in the figure equals 200, what is the critical frequency of the output coupling circuit?
A) 14.48Hz
B) 7.24kHz
C) 3.62Hz
D) 7.24Hz


3. In the figure, the transistors are identical with βdc = 200. Use the second approximation of a diode, and assume the bases are driven by low-impedance sources to find Vout. 
 
[image: https://angel.grantham.edu/AngelUploads/QuestionData/c6745f8d-d298-4d32-b6a3-c016ece06c88/EE220.03%20Fig%204.jpg#%7B19C3B2EF-7E67-4AC2-9CDF-34E9AB2EB901%7D]
A) 10.00V
B) –20.00V
C) 9.65V
D) 10.35V



4. In the figure, the transistors are identical with βdc = 200. Use the second approximation of a diode, and assume the bases are driven by low-impedance sources to find Zin.
[image: https://angel.grantham.edu/AngelUploads/QuestionData/08f9d31b-c754-41d0-9ec5-bc1353f649d3/EE220.03%20Fig%204.jpg#%7B1E5DBDA5-C693-4E76-9BA0-78F1BD3D52F2%7D]
A) 259.0kΩ
B) 103.6kΩ
C) 200.0kΩ
D) 51.8kΩ



5. 
In the figure, the transistors are identical with βdc = 300. Use the second approximation of a diode to determine Zin.
[image: https://angel.grantham.edu/AngelUploads/QuestionData/ed35e2db-6ee4-49a3-94b1-6e18044e16b4/EE220.03%20Fig%205.jpg#%7B7CB556F0-C4D8-452D-A7D4-AB530EA55AB8%7D]
A) 44.3Ω
B) 13.3kΩ
C) 4.7kΩ
D) 26.6kΩ



6. 
In the figure, the transistors are identical with βdc = 300. Use the second approximation of a diode to determine VB.
[image: https://angel.grantham.edu/AngelUploads/QuestionData/fe85c11e-8725-487a-a79d-cd57689b5f97/EE220.03%20Fig%205.jpg#%7BE75EBDFC-2CA5-4C32-BAA1-7E10E58A4693%7D]
A) 0V
B) 0.7V
C) 1.4V
D) –6V



7.  In the figure, the transistors are identical with βdc = 300. Use the second approximation of a diode to determine Vout.
[image: https://angel.grantham.edu/AngelUploads/QuestionData/96db7b4e-70db-4c07-a37c-3f2b107aee0a/EE220.03%20Fig%205.jpg#%7B621931C2-CE6C-46AC-BAC7-023D3361CFB9%7D]
A) 5.2V
B) 0.7V
C) 10.4V
D) 6.4V



8. 
In the collector circuit of the figure, C represents the combined capacitance of Cc’ and the stray capacitance. Calculate the critical frequency of the collector-bypass circuit. 
 
[image: https://angel.grantham.edu/AngelUploads/QuestionData/ccc829e1-e77b-48da-a8cc-e6ec8dae5ff2/EE220.03%20Fig%201.jpg#%7B8E6B7348-08CC-408C-BB84-E0FA171D631C%7D]
A) 589kHz
B) 9.43MHz
C) 1Hz
D) 16.9Hz



9. 
In the figure shown above, the transistors are identical with βdc = 200. When the common-mode input is 5 mVp-p, determine Vout. 
 
[image: https://angel.grantham.edu/AngelUploads/QuestionData/478a9c1f-7fbc-405d-aedc-42bea93f73f7/EE220.03%20Fig%204.jpg#%7B0260CBA5-1C5F-472C-A4EA-BE904217AA54%7D]
A) 1.93mVp-p
B) 2.50 mVp-p
C) 0.48 mVp-p
D) 10.35 mVp-p




10. 
What is the critical frequency of the output coupling circuit in Figure 1?
[image: https://angel.grantham.edu/AngelUploads/QuestionData/1d3c795b-e09e-485e-96eb-d559feedfa4e/EE220.03%20Fig%201.jpg#%7B905F1777-C4A6-4595-A9CD-03C2F9440893%7D]
A) 589kHz
B) 4.82MHz
C) 1Hz
D) 15.92Hz
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